

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No.

### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO SNL 9182U

	REPLACEMENT OF PARTS				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	FRONT BUMPER	DEFORMED	\$972.20	\$843.00	
2	FRONT BUMPER RETAINER @\$145.90	NOT NECESSARY	\$291.80	\$0.00	
1	FRONT RADIATOR GRILL	CRACKED	\$1,268.30	\$1,268.30	
1	FRONT GRILLE WITH LOGO	CRACKED	\$298.20	\$298.20	
1	SET FRONT BUMPER LOWER GUARD	NOT NECESSARY	\$335.10	\$0.00	
1	FRONT BUMPER LOWER SPOILER	NOT NECESSARY	\$596.40	\$0.00	
2	FRONT BUMPER REINFORCEMENT BRACKET @\$148.50	BENT	\$297.00	\$297.00	
1	FRONT REINFORCEMENT	DENTED	\$495.40	\$495.40	
1	REINFORCEMENT SPONGE	CRACKED	\$164.00	\$164.00	
2	REINFORCEMENT STAY @\$484.20	NOT NECESSARY	\$968.40	\$0.00	
2	LOWER BRACKET SPONGE @\$86.90	N/S TORN	\$173.80	\$86.90	
4	FRONT PARKING SENSOR @\$435.20	NOT NECESSARY	\$1,740.80	\$0.00	
1	FRONT BONNET	DENTED	\$1,147.50	\$1,147.50	
2	FRONT BONNET HINGE @\$121.30	BENT	\$242.60	\$242.60	
1	FRONT BONNET INSULATOR	NOT NECESSARY	\$388.20	\$0.00	
1	FRONT BONNET LOCK MECHANISM	NOT NECESSARY	\$188.80	\$0.00	
1	FRONT BONNET SEAL	NOT NECESSARY	\$87.90	\$0.00	
2	FRONT FENDER @\$985.80	N/S BUCKLED	\$1,971.60	\$840.00	
2	FRONT FENDER LINER @\$262.10	NOT NECESSARY	\$524.20	\$0.00	
2	FRONT FENDER PAD @\$71.80	NOT NECESSARY	\$143.60	\$0.00	
2	FRONT FENDER PROTECTOR @\$118.50	NOT NECESSARY	\$237.00	\$0.00	
2	FRONT HEADLAMP @\$2702.70	CRACKED	\$5,405.40	\$5,405.40	
2	HEADLAMP BRACKET @\$152.10	NOT NECESSARY	\$304.20	\$0.00	
1	RADIATOR TOP SUPPORT	CRACKED	\$480.30	\$480.30	
2	RADIATOR SUPPORT LH / RH @\$135.10	NOT NECESSARY	\$270.20	\$0.00	
1	RADIATOR LOWER SUPPORT	NOT NECESSARY	\$398.70	\$0.00	
2	FRONT CROSSMEMBER GUSSET @\$94.10	NOT NECESSARY	\$188.20	\$0.00	
2	RADIATOR AIR GUIDE LH / RH @\$69.20	N/S DEFORMED	\$138.40	\$69.20	
1	RADIATOR UPPER AIR GUIDE PLATE	NOT NECESSARY	\$154.80	\$0.00	
1	RADIATOR LOWER AIR GUIDE	NOT NECESSARY	\$154.80	\$0.00	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No.

Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	RADIATOR TOP AIR GUIDE	NOT NECESSARY	\$58.30	\$0.00
1	AIR INLET DUCT	NOT NECESSARY	\$40.80	\$0.00
1	AC CONDENSER	DENTED	\$1,866.70	\$1,866.70
2	CONDENSER LOWER BUSHING @\$21.30	NECESSARY	\$42.60	\$42.60
1	AC DISCHARGE HOSE	NOT NECESSARY	\$643.60	\$0.00
1	AC SUCTION HOSE	NOT NECESSARY	\$787.70	\$0.00
1	RADIATOR	DAMAGED	\$2,198.10	\$2,198.10
1	RADIATOR TOP HOSE	NOT NECESSARY	\$71.30	\$0.00
1	RADIATOR BOTTOM HOSE	NOT NECESSARY	\$62.60	\$0.00
2	RADIATOR LOWER BUSHING @\$21.30	NECESSARY	\$42.60	\$42.60
1	FAN COWLING	NOT NECESSARY	\$412.00	\$0.00
1	FAN BLADE	NOT NECESSARY	\$419.10	\$0.00
1	FAN MOTOR	NOT NECESSARY	\$2,198.10	\$0.00
1	AIR BOX	CRACKED	\$596.30	\$596.30
1	AIR BOX TO INTAKE MANIFOLD HOSE	NOT NECESSARY	\$216.20	\$0.00
1	FRONT COLLISION SENSOR	CRACKED	\$1,689.20	\$1,689.20
1	SET FRONT BUMPER WIRING HARNESS	NOT NECESSARY	\$428.10	\$0.00
1	FRONT COLLISION SPEAKER	NOT NECESSARY	\$301.50	\$0.00
1	COLLISION SPEAKER BRACKET	BENT	\$108.20	\$108.20
1	REAR BOOT	DENTED	\$2,153.60	\$1,550.00
2	REAR BOOT HINGE @\$84.90	NOT NECESSARY	\$169.80	\$0.00
2	REAR BOOT ABSORBERS @\$453.00	NOT NECESSARY	\$906.00	\$0.00
1	REAR BOOT LOCK MECHANISM	DAMAGED	\$647.90	\$410.00
1	REAR BOOT STRIKER	NOT NECESSARY	\$35.90	\$0.00
1	REAR BOOT WEATHERSTRIP	TORN	\$465.30	\$465.30
1	REAR BOOT INNER TRIM	NOT NECESSARY	\$888.70	\$0.00
1	END PANEL	DEFORMED	\$724.20	\$724.20
1	END PANEL TOP GARNISH	DEFORMED	\$254.80	\$254.80
1	REAR LUGGAGE COMPARTMENT BOARD	DEFORMED	\$689.60	\$689.60
1	REAR LUGGAGE COMPARTMENT	TO REPAIR SEE LABOUR	\$574.20	\$0.00
1	HYBRID BATTERY COVER	NOT NECESSARY	\$363.70	\$0.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No.

REPLACEMENT OF PARTS				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	REAR BUMPER	DEFORMED	\$516.40	\$516.40
2	REAR BUMPER RETAINERS @\$105.90	NOT NECESSARY	\$211.80	\$0.00
2	REAR BUMPER SEAL @\$79.60	NOT NECESSARY	\$159.20	\$0.00
2	REAR BUMPER EXTENSION @\$179.60	NOT NECESSARY	\$359.20	\$0.00
2	REAR WINDSCREEN MOULDING @\$42.70	NECESSARY	\$85.40	\$85.40
2	REAR PARKING SENSOR @\$454.20	DAMAGED	\$908.40	\$580.00
1	KEY ANTENNA	NOT NECESSARY	\$205.20	\$0.00
1	FRONT PARKING SENSOR WIRING HARNESS	SNAPPED	\$542.10	\$410.00
1	FRONT AIR BAG SENSOR LH	NOT NECESSARY	\$342.50	\$0.00
1	REAR FENDER INNER TRIM RH	NOT NECESSARY	\$848.50	\$0.00
1	REAR FENDER INNER TRIM LH	CRACKED	\$848.50	\$848.50
1	REAR PARKING SENSOR HARNESS	NOT NECESSARY	\$533.20	\$0.00
1	REAR TAILGATE MODULE AFTERMARKET	NOT NECESSARY	\$850.00	\$0.00
	LESS 25.00% DISCOUNT		(\$11,623.73)	(\$6,178.93)
			\$34,871.17	\$18,536.77

Special Nett					
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	SET BODY PANEL JOINT SEALANT (SN)	NECESSARY	\$120.00	\$60.00	
1	SET END PANEL TOP TRIM CLIPS (SN)	NECESSARY	\$30.00	\$20.00	
1	SET REAR NUMBER PLATE WITH CASING (SN)	NOT NECESSARY	\$50.00	\$0.00	
2	SET TAILLAMPS CLIPS @\$25.00 (SN)	NOT NECESSARY	\$50.00	\$0.00	
1	SET REAR BUMPER CLIPS (SN)	NECESSARY	\$40.00	\$30.00	
2	SET REAR FENDER INNER TRIM CLIPS @\$30.00 (SN)	NECESSARY	\$60.00	\$30.00	
2	SET REAR FENDER INNER COWLING CLIPS @\$30.00 (SN)	NOT NECESSARY	\$60.00	\$0.00	
1	SET BOOTLID INNER TRIMCLIPS (SN)	NOT NECESSARY	\$30.00	\$0.00	
1	SET FRONT NUMBER PLATE WITH CASING (SN)	MISSING	\$50.00	\$50.00	
1	SET FRONT BUMPER CLIPS (SN)	NECESSARY	\$30.00	\$30.00	
1	SET REAR WINDSCREEN SEALANT (SN)	NECESSARY	\$50.00	\$30.00	
1	SET REAR WINDSCREEN PRIMER (SN)	NECESSARY	\$30.00	\$30.00	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No.

**Special Nett** 

Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	SET REAR WINDSCREEN SUPPORT SPONGE (SN)	NOT NECESSARY	\$40.00	\$0.00
			\$640.00	\$280.00
	Labo	ur		
	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
	PANEL BEATING. INCLUSIVE OF THE REPAIR OF REAR LUGGAGE COMPARTMENT		\$2,000.00	\$1,800.00
	SPRAY PAINTING		\$2,000.00	\$1,500.00
	CHECK WIRING		\$60.00	\$60.00
	ANTI RUST		\$80.00	\$80.00
	REMOVE AND INSTALL REVERSE CAMERA		\$150.00	\$50.00
	REMOVE AND INSTALL REVERSE SENSOR		\$120.00	\$50.00
	REMOVE AND TRANSFER TAILGATE COMPONENTS		\$150.00	\$80.00
	REMOVE AND REFIT UPHOLSTERY TO FACILITATE REPAIR		\$150.00	\$80.00
	REMOVE AND REPLACE FRONT CONDENSER AND RADIATOR		\$150.00	\$120.00
	RECHARGE AC GAS		\$80.00	\$40.00
	SYSTEM RECALIBRATION AND RESET	NOT NECESSARY	\$250.00	\$0.00
	REMOVE AND INSTALL REAR EXHAUST SILENCER	NOT NECESSARY	\$180.00	\$0.00

GRAND TOTAL	\$41,841.17	\$23,376.77		
RECOMMENDED COST OF LUMP SUM REPAIRS (TO ITS PRE-ACCIDENT CONDITION) (CONFIRMED)		\$18,300.00		
Report Ref No: CS/INC24100171/Anh3e2				

\$120.00

\$600.00

\$120.00

\$120.00

\$6,330.00

\$0.00

\$120.00

\$480.00

\$50.00

\$50.00

\$4,560.00

TOTAL FOR SPARE PARTS: \$ 35,511.17 \$ 18,816.77 TOTAL FOR LABOUR: \$ 6,330.00 \$ 4,560.00 TOTAL REPAIR COST: \$ 41,841.17 \$ 23.376.77

**LWP** 

ADRIAN LING WAI PING

REMOVE AND REFIT REAR WINDSCREEN

CALIBRATE FRONT COLLISION SENSOR

TO INSTALL FRONT PARKING SENSOR

TO INSTALL REAR PARKING SENSOR



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No.

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of reposibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.